et EXO0

E4: EPMPEEREBBER/NEEZHREHEIRE--BE: FF (RRIERE:FF->FF)

PNA21-01-#&8: FF, #4858 W30, FI&EFF3%: 2 [X2:+109,Y20:+115] , #&&: (1190.0)=1190.00 cm, #=:30.0 cm , &

#2:130cm

X H= (Int((1190-5-5)/15)+1)/100= 79

#5 | EHEH(E14) BEHRE(EX)EEEE EETEMIMHRE]301=30.00 23.70
EEHBR(E1#)= 30.00*[32%]79/100= 23.70 M

#5 KT (E148) KEERE(EX)= 1190+[#&H]Int(1190/(8*100))*60+ 1 17 #4- 25.00
e Ld]O* [ M1]2*46+[58 R 715 5 42 #1-Ld]46*0= 1,250.00
X H=2/100=2 X

KT E(E148)= 1,250.00*[3 £]2/100= 25.00 M

X #= Int((1190-5-5)/15)+1)/100= 79

#5 | EHEAH(5E24) BEHRE(EX)EEEE E BT EMIEMHRE]3071=0.00 23.70
EEHRR(E24)= 30.00*[32#]79/100= 23.70 M

#5 KR (E248) KFEERE(EX)= 1190+[#&H]Int(1190/(8*100))*60+ 1 1 #4- 25.00
E— Ld]O* [ 1]2*46+[58 R 71 5 42 #1-Ld]46*0= 1,250.00
X H=2/100=2 X

KGR (F248)= 1,250.00*[3 ££]2/100= 25.00 M

#oEE M ELNFAIMEIE(E1H):
&= (Int((1190.00-5-5)/15)+1)/100= 79
RE(E140)= [E#K]40.0* X #]79/100= 31.60 M
#oFE A E LRI MR E (FE240):
X 8= (Int((1190.00-5-5)/15)+1)/100= 79
RE(E248)= [E#K]40.0* X 8]79/100= 31.60 M
#6 T1EfA:
JKEHEE: Int(1190.00/60)= 19
FTHEHEE: Int(30.00/60)= 0
T ERRERE:((30-3*2)+10%2)* 7K T HE 8419 [ E H:24]0= 0.00 M
BARETE:
RE&:1
INER 13 = ¥5=(L)1190.00%(H)30*2/10000=7.14 M2
P ENE F B RR/NET: 7.14 M2
${A14&/\51:30*30%2/10000=0.18 M2
ﬁﬁﬁfgz 7.32-[F9%5$1]0.00-[ & Ea B E $1]0.00+[F9 &5 $14]0.00+[ B Ha B O $:44]0.00-[{8 & 32 $£40]0.00=7.32 M2
RCEtHE:
KE&:1
INER 13 = H5=(L)1190.00%(H)30%(t)30/1000000=1.071 M3
L EEFERC/MET: 1.071 M3
RC/I\et: 1.071-[F9%5 B 0 RC]0.000-[ & Fa B O RC]0.000= 1.071 M3
-------------- HEHERN
SRAR/NET (KB O L B0 BRR): (H&RF O LL451:0.0000)
#5=160.60 M*(1-0.0000)=160.60 M (160.60 M*1.560/1000= 0.2505 T)
ME/NET(EER)=0.2505T
BAR/NET(E )= 7.32 M2
JREE /NG =1.071 M3

PNA21-01-#£f&: FF, #&5X5%: W30, fIE F5%: 1 [X1:+174,Y34:+89] , f& &

(150.0+133.3+106.5+99.1+99.1+99.1+99.1+99.1+99.1+99.1+99.1+99.1+99.1+99.1+99.1+99.1+111.8+341.9)

=2131.80 cm, §&=:30.0 cm ,5%2:130cm

X #H= (Int((2131.8-5-5)/15)+1)/100= 142

#5 | EEF(E14) BEREEX)EREE CETESEMARE]30*1=30.00 42.60
T E R (E148)= 30.00*[% £4]142/100= 42.60 M

#5 KR (EE14H) KFERE(EX)= 2131.8+[#5#]Int(2131.8/(8*100))*60+[E:f 47.80
—_— H-Ld]1*[MR]]2*46+ (38 E AT HE A 80-Ld]46% 1= 2,389.80
X #H=2/100=2 %

KRR (E148)= 2,389.80* [ 1]2/100= 47.80 M

3

i

248) BEREEX)EREE CBTESE/HRRE]30%1=0.00 42.60
X 8= Int((2131.8-5-5)/15)+1)/100= 142
T E R (E248)= 30.00*[% £4]142/100= 42.60 M

(

&

#5 | EH]
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#5 KA (5248)

KERE (B X)= 2131.8+[f51]Int(2131.8/(8*100))*60+[ &
-Ld]1*[RA]2* 46+ [FE B #T S+ 20-Ld]46*1= 2,389.80
X#H=2/100=2 %

KSR (E240)= 2,389.80* [ £]2/100= 47.80 M

47.80

#SEE R ERR R A I RET E (FE 170):

X 8= (Int((2131.22-5-5)/15)+1)/100= 142
RE(E14)= [ZEK140.043£4]142/100= 56.80 M

#52E B 7 E AR R I 0 R 5T 5 (55 248):

X 8= (Int((2131.22-5-5)/15)+1)/100= 142
RE(FE240)= [ K140.04 3 £4]142/100= 56.80 M

#6 FPRARTR A

LEEARE: (S =30 & Ek]*1*[X]*4/100=1.20 M

#6 T 1Efh:

JKTEHEH: Int(2131.80/60)= 35
= E B8 Int(30.00/60)= 0

T ARARBE:((30-3"2)+10*2) [k F HF 2K]35*[Z E #:#]0= 0.00 M
RhREtH:

KEE:1

INER1: 3B 5=(L)150.00%(H)30*2/10000=0.90 M2
ﬁﬁ)ﬁﬁ% 2 EE=(L)133.27*(H)30%2/10000=0.80 M2
ﬁﬁ)ﬁﬁ% 2 EE=(L)106.45*(H)30%2/10000=0.64 M2
ﬁg/'ﬁﬁ% 2 EE=(1)99.06*(H)30%2/10000=0.59 M2
ﬁg/'ls\ﬁ% 2 EE=(1)99.06*(H)30%2/10000=0.59 M2
ﬁg/'lb:ﬁ% 2 EE=(1)99.06*(H)30%2/10000=0.59 M2
ﬁg/'lzﬁ% 2 EE=(1)99.06*(H)30%2/10000=0.59 M2
ﬁg}ﬁﬁ% 2 EE=(1)99.06*(H)30%2/10000=0.59 M2
ﬁg)ﬁﬁ% 2 EE=(1)99.06*(H)30%2/10000=0.59 M2
x5§)11\(5)£1 2 EE=(1)99.06*(H)30%2/10000=0.59 M2
ﬁg}rﬁ% 2 EE=(1)99.06*(H)30%2/10000=0.59 M2
ﬁﬁ)]@% 2 EE=(1)99.06*(H)30%2/10000=0.59 M2
ﬁﬁ)]@% 2 EE=(1)99.06*(H)30%2/10000=0.59 M2
ﬁg)f\é% 2 EE=(1)99.06*(H)30*2/10000=0.59 M2
ﬁg)f\g% 2 EE=(1)99.06*(H)30%2/10000=0.59 M2
ﬁgﬂ@% 2 EE=(1)99.06*(H)30*2/10000=0.59 M2
ﬁgﬂ@% EEE=(L)111.77%(H)30*2/10000=0.67 M2
ﬁgl:f\%% 2 EE=(L)341.92*(H)30%2/10000=2.05 M2

R nEE 30°3041/10000-0.09 2

jcgﬁ/:f\ﬁ% 4 E i =(L)150.00%(H)30%(t)30/1000000=0.135 M3
jcgﬁ/:lz\ﬁ% 2 E=(1L)133.27%(H)30%(t)30/1000000=0.120 M3
jcgﬁ/:ﬁﬁ% B =(L)106.45%(H)30%(t)30/1000000=0.096 M3
ﬁg/:ﬁﬁ% H 5 1E=(L)99.06*(H)30%(t)30/1000000=0.089 M3
ﬁg/:ls\ﬁ% H 5 1E=(L)99.06*(H)30%(t)30/1000000=0.089 M3
ﬁg/:ﬁﬁ% 3 S E=(L)99.06*(H)30%(t)30/1000000=0.089 M3
ﬁg/:r\ﬁ% 3 S5 E=(L)99.06*(H)30%(t)30/1000000=0.089 M3
KE&:8

Em)};}g: 12.88-[P9E5#0]0.00-[ & E3 B 01 $1]0.00+[9 B8 £14£]0.00+[ B E3 B O £4]0.00-[{81 E 32 #41]0.00=12.88 M2
RCETHE:
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R INER 1 ETE=(L)99.06%(H)30%(t)30/1000000=0.089 M3
E%:9
% INER 1 B HE=(L)99.06*(H)30%(t)30/1000000=0.089 M3
E%:10
% INER1: 3 5 5=(L)99.06*(H)30*(t)30/1000000=0.089 M3
%11
INER 1 BB =(L)99.06*(H)30%(t)30/1000000=0.089 M3
REx:12
INER1: 3 B 5=(L)99.06*(H)30*(t)30/1000000=0.089 M3
KE&:13
INER1: 3 E5=(L)99.06*(H)30*(t)30/1000000=0.089 M3
KEx:14
% INER1: 3 E5=(L)99.06*(H)30*(t)30/1000000=0.089 M3
E%:15
INER1: 3 E5=(L)99.06*(H)30*(t)30/1000000=0.089 M3
KEx:16
INER1: 3 B 5=(L)99.06*(H)30*(t)30/1000000=0.089 M3
KEE:17
INEE 13 S B =(L)111.77*(H)30%(t)30/1000000=0.101 M3
KEx:18
INER 1 B8 =(L)341.92%(H)30%(t)30/1000000=0.308 M3
LU EHEF ERC/ME: 1.918 M3
RC/IVet: 1.918-[F9% B O RC]0.000-[ & F B A RC]0.000= 1.918 M3
-------------- SHEER -
AR /NET(IKBE O LL B0 BR#R): (#EBF O EL451:0.0000)
#5=294.39 M*(1-0.0000)=294.39 M (294.39 M*1.560/1000= 0.4593 T)
B O B A PR AR R AR BB 4 /N (AR ER ) R a0 RRBA O L 431
#6=1.20 M (1.20*2.250/1000= 0.0027 T)
AR/ NEH(EE M +EEA) = 04620 T
ERR/NETH(E)= 12.88 M2
gL/ =1.918 M3

PNA21-01-428: FF, {25 W15B, (B REaE: 3 [X4:+215,Y34:429] | ¥& 5 (187.5+222.5)=410.00 cm, Y&25:155.0
cm 5 718:-45cm

#4 J EEH(E14) EERE(EX)[FE1E QSE]155+[E -+ f]15+[90E & 50.84

$7]18.3= 188.28
X #= (Int((410-5-5)/15)+1)/100= 27
FEEEE(E140)= 188.28* 32 #]27/100= 50.84 M

#4 JKEH(EE148) KT RE(EX)= 410+[#4£]Int(410/(8*100))*48+ [ 4 88-Ld] 48.40
= 1*[RAA]2*37+[38 E T s 4 2e-Ld]37*0= 484.00

X &= 10/100= 10 X

JK T R (5 148)= 484.00*[32 £4]10/100= 48.40 M

#4 EEM(E24) EEREEX) 51K 8518155+ +EEm]15+[90E & 50.84
J $4]18.3= 188.28
X #= Int((410-5-5)/15)+1)/100= 27
FE AR (F248)= 188.28* [ #]27/100= 50.84 M
#4 KT (B248) KT (BEX)= 410+[5H2]Int(410/(8*100))*48+[# 1 8-Ld] 48.40

— 1*[RAA]2*37+[38 E T s 4 2e-Ld]37*0= 484.00
X &= 10/100= 10 X
JK T R (5248 )= 484.00*[32 £4]10/100= 48.40 M

#5 AR Am:
LEE AR (fEa=]155* 184 1*[X]*4/100= 6.20 M
#5 T 1Efh:
JKFEHEEL: Int(410.00/60)= 6
FHEHEE: Int(155.00/60)= 2
TEEERE:((15-3"2)+10*2) K E B 26 [ E HE 8h]2= 3.48 M
EhRETE:
RE:1
Q/J\Eﬁ1 FRIE (T2 ):(b1:60cm)=(L)187.50*(H)(155-60-[ K E kR [E]50)*2/10000=1.69 M2

INER 1R (5 2 ):(b1:60cm)=(L)7.50*(H)(155-60-[ K E iR /E]50)*2/10000=0.07 M2
IINER2: B EE (1 £ ):(BS2)=(L)215.00%(H)(155-20-[ K EE AR /E]50)*2/10000=3.66 M2
Ll b i E E B R/NEL: 5.41 M2
HHEIAE/VET:15%852/10000=0.26 M2
me_ifg: 5.66-[1E5#0]0.00-[ & Ha 5 A $0]0.00+([F9 5 $4%]0.00-+[ B #1 5 A $44]0.00-[{8 7 3 #411]0.00=5.66 M2
RCEt&:
REx:1
Q/J\Eﬁ1 HRIE (B E):(b1)=(L)187.50%(H):(155-60-[ K E kR E]50)*(t)15/1000000=0.127 M3
2
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N BRE (B ) (b1)=(L)7.50%(H):(155-60-[ K E AR /E]50)*(t)15/1000000=0.005 M3
INER2:BREE (T £ ):(BS2)=(L)215.00*(H):(155-20-[ K E kR [E]50)*(t)15/1000000=0.274 M3
LA EHEF ERC/MET: 0.406 M3
RC/IM&t: 0.406-[F9%5 B O RC]0.000-[ B B O RC]0.000= 0.406 M3
-------------- SHEMHER G-
S /NG (K BA O E B0 RR %) (#8BA O EL451:0.0000)
#4=198.47 M*(1-0.0000)=198.47 M (198.47 M*0.994/1000= 0.1973 T)
#5=3.48 M*(1-0.0000)=3.48 M (3.48 M*1.560/1000= 0.0054 T)
B O B2 A PR AR AR AR AR 50 /N ET (A B D S s 0 BREA O e 451 ):
#5=6.20 M (6.20*1.560/1000= 0.0097 T)
A/ NEH(EEMH+EEA) = 02124 T
EhR/NEH(E)= 5.66 M2
B /NET = 0.406 M3
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